: _ 4 | < | 4 } s _ 9 _ £ _ :
™ 1 mn] %% O gy _ NOLYI Y e s L]
sl NQ 0380 | ASSY DOM QIINNA 51 NQUNERLSKE 13SY31Y_Jnand
HAzoLvE m%wwm ma W.@. s L m.”_ HO4 UIAOBdDY ¥ INIAILYIS NGINBIELS
KOO Tty Ol Sl
a.03 T g — Lex TN AdIL
) X - - -
1INV HOOO HYIY oum et Sownain A
DRI~ SR 19 SOMTY VT N30k BOIPUNOS, L L v vI9 XUd O
w0 emaenal e IAT G | oRaa)ss pemahad S5om 133815 1St-£00
WA B BD 1IN aWecn Ipoeoa]  DHIMYHTD J7¥S 10H 00 g N TEILIMITING STLLSY
LLAZGLEY "ON LiVd J3¥N0S 631539008
— S = <
AN : N
| Xy ¥ TY i S SRR
" _ _
I Ll I
1 bl 1
1] i I
il bl n
I o \
I bl [
) [ u
1 1 (
I 1 1
I 1l 4|
{ [ i
. 1 i T
1 | :
‘ ) ATBHISSY LV )
: " — IN0=1NJ Y04 HywW |
W : "
3 [ I
3 ) 1
I [ i
i I I
i “ Il
" i TR |
i [ I
I K )
l 1 I
1 [l )
1 1 b
1 I 1
1 1 I
(I 1 1
i i I
) 1 1
1l 1 1
1 1 U
{ 1 0
{ 1 i
{l 1 [
{l 1 1
{ 1 1
{l 1 I
(! | [l
i i )
i | I
( 1 1
1 H 1
\ | ;
0 N RN s feiein gy pspeieteapeieitetel s IR, 1 8 .
mﬁ---?.:.:::ﬁ::i%&-H_m@ ko
f I '
e e -
: INON HSINI E
col @O _\%ﬁ. “0,03Y Z 'SSID0Nd WHO4 WNNIVA LOH A JdVHS
‘ONIRYOA H3LIV SSINMIIHL WANININ ORL" ‘L33HS DILSYTd XI0AN IviM3ILvw 2
2 m. 3 £ Nﬂm—lim.¢—>w"m.__.4<,m
L S o S : 001 -015-K ¥
SNOILYIIAID3dS/SOUVONYLS 318vaniddy "I
SJAILDY NOIS30 JHL A8 Q3LYH0d¥02 .
38 1IWHS SIONVHD  COINIVINYR O¥2 'S3ALON
[
aoade | fa-on-a] ua_ WL X ".5_ Wl
SNTRATH
t _ z i £ 4 { 5 9 L | 8



¥ | L 1

(xs) ¥ 2"

0078

0s°'9k

TALALLIY KOIS3IC IML
38 TTYHS S3IONVHD

A8 OQILYHOJHOON
"GNV LNIYN GY2

SYILNID

£ NO SJ0H

vi¢ 6917

("HM d02 S3QIS 135440 35H
NMOHS ONYH LHDY

{QILIPHIND i NOILNELSIO TISYITY_Nend
D4 0JAQHIdY ¥ LNIAJLVIS HOLLAGHLSIG

(xZ) 4 o

7

o

[} 1 [2 i [y [ r } hd
mre s _ MOUY O W Bl
WAy W W e el O BRSO ALSY (I -
s i m-x@. Teani | o8ireNra -
T
LHOdANS J1IHS SSMAL HO4 [ mr.fﬁa o wo 5 -
NMOH i} ' 28 A M IaOnd
(; S 301 [HIW) HIQMO !ﬂ«...u..:uh...: st
T e o gl [ )
oL T Lttt il
i Ba R pRRuma wywwws ovpgaag| TRAYU TS 1O 0d Jing)
TOI¥yOVF0 ON LUYd 0071 ,
a0'L — 9§
Q 1 ! L I : Lﬁ
r i I i (ip ot 0a'r
> | | L
i 08'61 o5’ —1=
=i ==|os 00°5% b
009z il
|
_ _ =S
ik XI} ¥ 0L _
i . oS’y —4— !
-t M = — _ - —
—— 1
—fit- _
|
uils via 59z ]
L.lu»
0o 1 |- , :
05'35Z )
SII0H OMILSIX3 01 TIUa HILYH HO

Z viaa

$3015 KN

"SyENg 0 3344
Ny NIXOUE 30 TIVHS SH3INEOD ONY §3003 W ‘¥

ASSY LY SI10H THYQ ASSY 303id OML R Y

8z X M 0T X L0607 ($34 Z) T W¥II0

= Jgz x M0z X 060" (SOd Z) ‘L Twidd
WOTIV 190§ *LIIHS ANNIANTY TIvbaLYR °L
7861 =MG'¥LA ISNY 8 |

001-015=1n ¥
SNOILYJLID3dS/SOUVONYLS 3M8YINddY L

ISILON




T 1
I M P
- , : _ 3 1 y | s L s _ ‘ | ] .

T 12 4m]. T o _ * [ - -
Ty T | roara | aied fuin = “GILMWIND 5 NOLNBNNSO TISVIIN NS
yOIYrOvYO mm.uhm.m ..w. e e m{@wﬁ il = ) . 04 QACHAY TV TRIRFLVIS NOUNENL SO
. R T TRy D e o oo -
JHNSOIINT “N3IHS 1 o -y T ) . K . A
. et N Eoliiac] :
i AaT1 T et W% g e .vﬂ....-lun.vlt-uwﬂ.!.‘l -
) Seale Vo) g |yl I . RO Nomuhud 131w
ey [ e N LE N g 2
"ON 1Y¥d
—t Sy -
xi) 0§ —! : y
( ._ \jﬂ 1 ! : T 1 /-
ﬁlﬂ uu\. e ) [ _ ................. “ ...... i wrlfm' e
L 1ixde) vig soz _.‘ln_..pnllil_ullﬁxs oo.fllll_ ,
A 1A 00ZL : ’ ’ -
b z97¢1
0% . o5l
[CxaT
H 6T )
S i e
(xz) W 2V
{0.03y 9}
JUASOTONI J13HS
a
. W8y gy
LY ) u
i .
1\, _ _ o . ,
X vl . o . ) -
ey w s ’ : : . ) SHUNA@ 40 33 -
: ANy NIXONB 33 TIViiS SHINY0D ONY 53903 W T
. ! .vnw Mmoo
191-yZ0Z ANNINATY L1J3HS 0S0° (534 9 TR T
(ONIGTIM) O°CY ONY KTV SMY/ISRY D
ZE5L-NETLIA ISNY B
OILY D123/ SOUY ome_mmmw._mﬂ 1
SNOILY D) SOUYQ) ’
‘ALWILDY NOISIG THL A8 GILYNOJHOON! . NOLLYOIII3d ONviS EY
38 FIYHS SIONVHD O3NKLNYR VD . : B T R 1SILON
e .
I ¥ P ¢ I 9 ] ¢ i K

i ] T ] . I3



i A

: ] t | € _ v i d | ; L ¢ | v
el 3o pi] =n e s ] ALY N - . . . - - s
imae WM o TTn | ANSY pR R . Q3LIATING S1 HOLLOBINLEI0 (TSVINIY 0N : L
SOLFYOVYO | 82965 | I e B TITIT: e S o . . : iV I OAreta
. oirr | v e . ) HOJ QIAOHadY ¥ ANIAILVIS NOURGUSa o).
003 T v rom S Ty : . <
¥ 30D HO0Q HY3Y — e : h C
I T et bt o .-aﬂ...nv.l“ut .
i, ey ‘lh'.\n-“l"‘l ull"--\.-)"l R LY 1) myd W]
[ R L eiiad | ) rarvpd TTIE 108 00 Jmd
COLYYoYEQ "ON lHYd

ya 0goz
....................... ..Lﬁ | . .
05 os1 AT o LBV . ’ : _ . i
! ! i I — . st , —

- 1
T.i.l_.._w.t.l.lﬂ...:l.\l.rw.w.&nlﬂ T nTu —l ‘ &.n |
N ot L
: . |
0" 1
3 : 2
Xy hn.u.\g.—u‘
0 - S : S o ] ¢
\ . ﬁﬂ m :
: ogL  STTL .

. , o . ..xuﬂzma,nm«..\ Cwroow | a . R

3 . ‘ Ly 3
: o . L @ - : syung 30 3384
, : _ . oY NINOUE 36 OL SHINNOD ONY $3003 T Y
HImiyd JLYNOYHD IMIZ HSING T

- . T B . R S (0,008 $3d Z) "WML 060" NJO0LS YU SL X § 'y W13
’ : o R Ce R CE : (0,03 S3d 2)."00 0S'yt TIOMY Ti" X SL° X st T WL
o o : L {0038 $2< 2) "07 00'RL X U5 Q4 GLET T W13
(0,039 $3d T) "51 OO'EL X ALS 0¥ S0 Y WL .n

ST AD018 ONAOK ONY L3EHS S Ais 0zol-Rugl SIGNG ¢ HO4 WL
o o : ZREI-AGTLA ISWY B
4 ) ’ e Lo . : . CO1-Q1S=TN ¥ R
‘ALY N30 3HI A8 OILYHBOJYOON! . R o e b : , SHOUYIUIDIIS/SGIVONYLS THIVONdAY "1 .
38 TWHS SIONYHD QINYINVA QYD P S . a0
} 3 { r i s . | 9 } L ] ]
i
l\



1 ] z T < R L | S | g9 ! L | a
[ sl un_yuen], s P _ [ NOWYIITdd¥ - .
e Lemlpnp WO WIS | ASeY LR - : . -QILANING §1 NOUNBIMISK *ISYITIH DIHInd
403 G3AQUddY ¥ INIFIIVIS NOUNGMISID

90§ ¥POVHO 94965

03 37v3 | e

) IO .
)
. . B B Fiy
:u

Q.034 Z f
Hvi ._.an.._ - n 3 ol mu:.cu&o:t
. . lu._u.-“hm S T WIANYHI N
BOC s AT 1] SO TP W3O MOLTLNG] D Tl st i el - '
WUAE sl ey I9R013A0 4RFIMS TRREPHS T5IM0 " .
YO (M wy ST ' .
A FH 0 RIS v (7] ORIMYED 1TYOS 10H 0G TR

0L vyOVY0 "CN L¥Vd

J —05'} o . Co
- ; -

Y3HSVA B/E

00t

ﬁ /ll'ﬂwviuﬁ.ﬂln.ualnu..u|u.|iuu||._a-

Xe H vig £0Z° \roon T PRI .
. e _ ‘SyuNg 40 3334

009 R SRR aNY NIHOYE 38 01 S¥INYOD NV $3003 TIV Y

. R AN u._kzomzo ONIZ .I_m"z_.% Y
PR 8 Sm §9d Z) "01 068 ITONY TL° X &L X G4 'Z W3
L w ~{0,034:52d" Z) "o oo'gl X AlS gy ¢ 'L Ivi3d
xuohm oznom oz< u,_oz< dEm owoﬁ m:ﬁ 15309 ¢ H¥04 ,_<_mu._<§. T
Gzadé O'CY ONY ¥ZV m;<\_mz< 3
. . Nmm_. WS ¥1A ISNY ©
001-0IS=IN ¥
GLALDY NOISIO FHL A8 cu?.mommouz_ wzo__.<uc_uun_m\mo~_<02<hm 1EYINSdY 7
38 TIVHS SIONVHO “(IINIYLNIYA o<o
:SI10N
— ] 1
Oyouas | e v | 31 W DT W Jued] ez . . B [ . .
EwOruA - . .
. 7 s ] g | ¢ 1 B

L _ : e




L r z | Iy | r ! 5 | 9 3 1
| i 10 68 S N el - |.4
| s mom ~ wa 015 K55v_2nin QILANNA § HOUNGYLSA TISYIJY HN8Nd
FRe 18 2 JeL 2 40] _ﬁ...mwm E] e A mm. Taen .“ ROJ QIADHIY ¥ ININILVLS NOLOHISK
al)
¥3VHL IH-LRH OL i%ﬁ_ﬂaﬂuﬁ% roewos T et F
FUNSOTIINT "ATONISSY [ SRS relibvid STLR 1084
u— M IS N
T SR e o e R e S ey
BERPY S VP gt By P T N
falligin g ey
— a2 Tt o yrura|_ oHEAYHO TRTS 10N 0D amn
Z01rPOYEQ "ON LUVYY .
FENSOTINT "ZCGLPYOVYD .
t W
- ¥ -8 WIS
4 5 \”// b : Y
CH—- 1 [ o -1t // \\A i
¥ ¥ ¥ )
£ Wik — =T it
u il
JIn ooisy - m\
. w_._.ﬂ_.uwwwm i
L Wiz
“¥-¥ BOUIIS
<
501
- S22 -
1 WL
Ve HOUZIE X o008 2, \:_ Mu
ik

© WM
3=3 M35

SUINIOY NDIS3T JHL A8 Q3IYHOJBOINI
39 TovHS SIONYHD  O3NNVINYK YD

oy ey g

=3
A

: =
o 77,

4

I

-

e T ey Pt S 2

M-rBE ST HITVIL

—

Y

——

i

2t

===

Fr——7

5 WIS

[ ~__u.. 378)

VN

0,008 {¥) SHITv4S
v ARy

00¢
ms.o —w ‘-.ltn.
“Son1 35001

giupgmgungdﬁgﬂu-gd

HOISNISS HIME FYTSHTIN JvWL STIOH/51%0Q LnO

‘313 "§IMY VYA Dail TG 10N 0L WUNYD OrelR

YROIISOd DRMINDY WILN JWNSOTING P4E 0L BTWWL L
'TANQ HILYA TO0'* MO £F' LY STI0M TV VN3N '

{5y ONOT ML NO SUTOVAS 0N JW¥ POt 1wt Jioe)

Himm YO SI't ML MYLBG OF ATIVEILYT MIUITOd ¥ i

HoN) I1YD01 ‘SINOSANS NV ONY EeONd THL HIIMLE

ONNAS S IVHI dYd OGN g Ty DL SWErds oL OOy Oy
BINTD DPRXOUAY MY 1Y SINIOIMT ML HOWSOL T

M X000 | X SEHSYAR 1YL ki j

01 _Z/1-¢ ¥ WG BT S0A Tris XM S K3 (05
63GNISSY INNSQIONT HE AW GINN0J ARAJVA 1O ST T

FROI=RE¥IA 150 W
0O =013= ¥
SHOUYILAD IS/ SOIVONYLS 11Oy )

XN




1 04A044305

alum washer -

© 1/8%,3/16", 1/4” inside dia for all above

{
Fasteners for the Trailer Mounted Weld Shop Set (TMWSS) I
50 January 97 cross-reference of CID to Drawing Requirements 3
Common Total [
C.1D. QTY Fastener Name Size Drawing Reference & Qty  Rel Date  §
04A044200-1 52 hx hd bolt w/lock nut 1/4-20 thd 1/2" L 44102A81 8§ 6/12/96 :
04A044200-1 44102AS3 20 6/12/96
44102A82 24 6/12/96
04A044200-1 44 hx hd bolt w/lock nut 1/4-20 thd 5/8" L 45101VF3 56  2/10/96
04A044200-2 * 32 hx hd bolt w/lock nut 1/4-20 thd 3/4" L 04A045100 sh 3,6 24 06/12/96
o ' 04A045100 sh d. 5 8 23/12/96
04A044200-3 16 hx hd bolt w/lock nut 1/420thd 1" L 04A045109&111 16 21/01/97 | ,
04A044200-4 12 hx hd bolt w/lock nut 1/4-20 thd 3-1/2" L 04A046000 12 19/11/96 i
04A044201-5 12 hx hd bolt w/lock nut 5/16-18thd 1"L 04A046005 6 19/11/96 | f
: ' o " 04A046006 6 19/11/96
04A044202-6 28 hx hd bolt w/lock nut 3/8-16 thd 1-1/2" L 04A045100 28 2/10/96 |
04A044202-7 8 hx hd bolt w/iock nut - 3/8-16thd 2" L - 04A045105 8 1wiome | -}
04A049600-1 5 hxhdbolt © .3/8-16thd 6" L - 04A049600 5 12/03/97 |- |
04A049600-2 36 hx nut, steel, cad plated 3/8-16 thd " 04AD49600 36 12/03/97
04A049600-3 36 flat washer, steel 3/8 nominal standard ~ 04A049600 36 12/03/97 |
04A049600-4 18 lock washer, steel ©'3/8" nominal standard - 04A049600 18 12/03/97 |-
04A044203 152 nylon insert lock nut ~ 1/4-20,5/16-18 & 3/8-16 for all above 152 todate. |
04A044300-5 144 s.s. pop rivet /8" diax.50grip - 04A046011 - 12 19/11/96 07
LT ' . 04A046012 66 19/11/96 | ° :
. : S .- 04AD46013 66 19/11/96 | . - %
1 04A044301-5 12 s.5. pop rivet *3/16" dia x .50 grip 04A046011 12 1911796 - | - :
04A044301-6 - 12 s.s. pop rivet - -+3/16" dia x .62 grip 04A044112° 12 °10/01/97 < | .
04A044300-7 36 s.s. pop rivet w/washer - 1/8" diax .75 grip 04A045100 sh3,6 - 28 23/12/96 ..
o B . SR 04A045100 sh 4,5 .8 23/12/96°
04A044301-3 128 s.s. pop rivet w/washer 3/16" dia x .25 grip 44102VFS 128 06/12/96 .
04A044302-4 212 alum pop rivet w/washer 3/16" diax 37 grip 44102AS3 180 06/12/96
' ' ‘ 44102AS4 104 06/12/96 |
. : 44102A86 16 10/01/97 |
44107-1(302-3) 28 alum pop rivet 3/16" diax 25 grip. 04A044105 - 16 -06/12/96 |
S | . © 44102A86 12 100197+ -
441074 (302-5) alum pop rivet 3/16“ dia x .50 grip 04A044109 12 21/01/97 1)
04A044302-5 6 alum pop rivet *3/16" diax .75 grip 44102V11 . 6 06/12/96 | - .
44107-2 (303-5) 36 alum pop rivet w/washer ~ 1/4" dia x .50 grip 04A045110 20 15/01/97 -
44107-3 (303-6) 52 alum pop rivet w/washer 1/4" dia x .62 grip Q4A046009 16 19/11/96 1 -
e ‘ o 04A044107 36 07/01/97 -~
44105-4 (303-8) 20 alumpoprivet . o 'dia_xrl.2‘5 grip 04A044107 -20 07!01!97:"'
04A044304 376 s.s. washer 18" & 3/16" inside dia  forall above todate 7 -
! 80

to date -~




g

APPLICATION REVISIONS -

LTR] DESCRIPTION [ oate | approved

NEXT ASSY USED ON

WSS CAD MAINTAINED. CHANGES -SHALL BE |
INCORPORATED BY THE DESIGN ACTIVITY. —

C— =

DASH #] —1 | =2 | -3 | -4 | =5 -6 [ =7 | = | —
LENGTH | .50 | .75 [1.00 [1.50 | 2.00|3.00| 350 ] . =

 NOTE. - | S S
I THE FASTENER SHALL BE A GRADE 2 HEX HEAD' MACHINE AR S
'BOLT WITH-A 1/4-20_ THREAD, HOT GALVANIZED COATING: AND-
A MINIMUM TENSILE STRENGTH OF 74,000 PSL

2. THIS FASTENER SHALL CONFORM TO ANSI/ASME B 182 At

5 EACH BOLT SHALL BE FURNISHED WITH A MATCHING THREAD, ~ -
ZINC PLATED, GRADE 2 NUT WITH A NYLON LOCKING INSERT.. |

4. SUGGESTED SOURCE: MCMASTER CARR SUPPLY COMPANY .
AND P/N 91309AXXX '

DISTRIBUTION STATE-MEN% 'A APPROVED FOR
PUBLIC RELEASE; DISTRIBUTION IS UNLMITED. A
PART NO. 04A044200 B

PMIC CONTRACT NUMBER . . DEPARTMENT OF THE - ARMY

UNLESS OTHERWISE SPECIFIED S ' ' ©.US. ARNY ARMAMENT RESEARGH.

: G ' R . .'DEVELOPMENT AND 'ENGINEERING CENTER -
DIMENSIONS ARE IN INCHES . NTRACTOR col ~ - ROCK ELAND mUNOS 51299 7300 U

CONTRACTOR -

TOLERANCES ON

- 2 PLACE 3 PLACE

PSP L | MACHINE BOLT, COMMERCIAL
' R e ArLAND | 70130 ITEM DESCREPT!ON_._ (01__0_)_
CHECKER | ENGINEER B _ 7- RTINS
" TDRAWING APPROVAL - SIZE | CAGE CODE .
. . o STEVE MARRIOTT . :
- [WATL ENGR N OESIGN APPROVAL . - . . A 59678 O4AO44200
- - ' ‘]t po REOL ... . [SCAEE DO Noﬂumr wr ISHEET




;i

APPLICATION REVISIONS
NEXT ASSY | USED ON LTR] DESCRIPTION , [ oate | aperoveD
TMWSS CAD MAINTAINED. CHANGES SHALL BE
INCORPORATED BY THE DESIGN ACTIVITY.
-”A” I
DASH #] -1 | -2 =3 | ~4 “'-'~5_-.~ -6 | -7
LENGTH | .50 | .75 [1.00 1.50 | 2.00|3.00| 3.50
NOTE: LT
1. THE FASTENER SHALL BE A GRADE 2 HEX HEAD MACHiNE

DUJ ) W S

AND P/N 91 S09AXXX

EWSTRWﬂynON'SfATEMENT A

" APPROVED ﬁoﬁ'

PUBLIC RELEASE DISTRlBUTION IS UNLIMITED

'_2 THIS FASTENER SHALL CONEORM TO ANSI/ASME B 1821

3. EACH BOLT SHALL BE FURNISHED WITH A" MATCHING THREAD-‘“'
ZINC PLATED, GRADE 2 NUT WITH A NYLON LOCKING INSERT.

4. SUGGESTED SOURCE: MCMASTER- CARR SUPPLY. CO\APANY

PART NO O4AO44201

. BOLT WITH A 5/16-18 THREAD, HOT- ‘GALVANIZED' COAT!NG ANDA"-., o
A I\MNIMHM TENSILE STRENGTH ()F 74, ;000 PSI :

PMIC

UNLESS OTHERWISE SPECIFIED: -
WMEN§ONS ARE!NIVCHES

CONTRACT NUMBER

T

DEPARTMENT OF THE ARMY .- 7 :
© U.S. ARMY. ARMAMENT RESEARCH, ~ = %
DEVELOPMENT. AND ENGINEERING CENTER .° . ©.”.

SCALE

L A

'iUNlT WT.

e - CONTRACTOR _ROCK_ISLAND, ILLINOIS 61299-7300°
TOLERANCES ON . .~ 7~ s :
2 PLACE 3 PLACE o
o ) MACHmE BOLT COMMERCML
' RAWN BY AT :
L O P ArLaND| 87 S01-30 1TEM DESCRIPTION (C[D)
CHECKER ENGINEER _
* [orRawiNG APPROVAL T SiZ6 | CAGE COOE |
E STEVE MARRIOTT. -
MATC ENGR | DESIGN APPROVAL A 59 678 O4AO44201
Co 4T 'pog REDL . Ne MO

lSH:ET




g

APPLICATION REVISIONS _

LTR| DESCRIPTION [ oate | apPROVED

NEXT ASSY USED ON

TTMWSS CAD MAINTAINED. CHANGES SHALL BE
_ INCORPORATED BY THE DESIGN ACTIVITY. —~

: DASH #| -1 | -2 | =3 | -4 | =5 -6} -7 . —
| LENGTH| .50 | .75 |1.00 |1.50 | 2.00{3.00.{ 3.50 | .- = .~ ¢

NOTE o . e T ..ﬁ”f;;-ff;,.__

o THE FASTENER SHALL BE A GRADE 2 HEX HEAD MACHINE = = -
-*_:;BOLTVWTH A'3/8-16_THREAD, HOT GALVANIZED COATING. AND;;;;,;g,

A MINIMUM . TENSILE STRENGTH OF 74,000 -PSI. | el
220 THIS' FASTENER -SHALL CONFORM TO ANSV%SME B 18.2.1°

3. EACH BOLT SHALL BE FURNISHED WITH A MATCHING THREAD,'-".l-"'-
~<ZINC PLATED, GRADE 2 NUT WITH A NYLON LOCKING INSERT.. ..~

4. SUGGESTED SOURCE: MCMASTER—CARR SUPPLY COMPANY.
~ AND P/N 91309 AXXX |

DISTRIBUTION 'STATEMENT A, APPROVED F.OR"
PUBLIC RELEASE; DISTRIBUTION 1S UNLIMITED.

PADT !\!ﬁ ﬂA AﬂA/‘E')ﬂ’)

R . o . AT INUL AT L R T ALERT Y —
PMIC . CONTRACT NUMBER - I oapmmsm OF THE ARMY .- B
UNLESS OTHERWISE SPECIFIED ' - L US. ARMY ARMAMENT RESEARCH, -

. : _ : ' DEVELOPMENT AND ENGINEERING CENTER
DIMENSIONS ARE IN INCHES CONTRACTOR i " ROCK ESLANO K LINOLS 51299 7300
 TOLERANCES ON - =1 - R
2 PLACE - 3 PLACE B R e S —
08 1003 R o = _MACHiNE BOLT COMMERC!AL: o
R _ DRAWN BY AT -
- U CMCPARLAND| B7-01-30 |TEM - DESCRIPTION (010)
CHECKER | ENGINEER ‘ U - o
_ DRAWING APPROVAL - | | SIZE | ..CAGE CODE - | -
_ - STEVE MARRIOTT . | . A . _ 449072
WATL ENGR | . |DESGN APPROVAL B A 59 678 - O4AO4 2
R " goe RIEDL - ISCAE DO N0T|umr wr T SHEET




}

[ APPLICATION REVISIONS — — _
NEXT ASSY | USED ON LTR| DESCRIPTION [ oate | aperoveo
CTMWSS CAD MAINTAINED. CHANGES SHALL BE
' INCORPORATED BY THE DESIGN ACTIVITY, B

O) -
A\ V)

JoasH gl -1 [ -2 =3
| SizE | 1/4-20|5/16-18 | 3/8-16 |

NOTE: : ' | | - R 1
. 1. THE FASTENER SHALL BE A GRADE 2, ZlNC PLATED Lol

‘ . STEEL HEX NUT WITH ‘A NYLON LOCKINGINSERT AND . = - = = o) o
HAVE A MINIMUM TENSILE: STRENGTH OF 74,000 PSI. . - 7 e -
2. THIS FASTENER SHALL CONFORM TO ANS!/ASME B 1821

3. SUGGESTED SOURCE: MCMASTER- CARR SUPPLY COMPANY

1 0. 4 24

AND P/N 90640A128, 130 & 131. _ B —

D'STRlBUTlON STATEMENT A. -AF’PRQ\-/ED FOR:."
PUBL C RELEASE; DLSTRLBUT ON IS UNUM TED
| PART NO O4AO44203
PMIC ' | CONTRACT NUMBER . _ DEPAT;MENT OEJ;ER;?:A;CH LTI I
UNLESS OTHERWISE SPECIIED: e I R bévzk:.gpugr AD ENGINEERING CENTEF'{-W"'_-".. B
'T"ML:;lZ::NC':‘;‘ 0';: T2 | coNTRACTOR ol ROCK ISLAND. ILUNOIS 612997500 | . St
2 PLACE 3 PLACE B R R PRt e
08 - 003 1 e I LOCK,NUT COMMERCIAL .
‘ ‘ R ek an| 23 0130 \'TEM. DESCRPTION (c D)
_ CHECKER | ENGREER L L
K DRAWING APPROVAL® - T {S1Z€ | CAGE CO0E |
S ST.E‘iE:f“R“*‘”T 1 A159678 O4AO44203
MATL ENGH : . | DESIGN APPROVAL - .. - -1
= : - _aoa RIEDL.  ~ ° 7 scm: 00 Noqum wr - _EHEET - .




:

APPLICATION REVISIONS

LTR| DESCRIPTION T bate | apPrOvED

NEXT ASSY USED ON

CAD MAINTAINED. CHANGES SHALL BE

TMWSS 44102456 \(~ORPORATED BY THE DESIGN ACTIVITY.

s l——— 250 NTA 11
7 WEJU 1M L

: ~ "A” (MINIMUM GRIP)

040 f

{-125 DIA .

T GrRP L A" |.126| 188 251| 376 _-..501{

. NOTE S P | " L .
THE POP RiVET SHALL BE A STAiNLESS STEEL DOME HEAD
R OPEN 'BODY.- TYPE,- WITH A" STEEL  MANDREL. . e e

920 A WASHER " SIZED QHAH USED WHEN THF FXPANQION

LS Ay S O N S T

SIDE -OF THE RIVET. RETAINS PLASTIC. .
3. HOLES SHALL BE PRE DRlLLED AT 128 DIA +OO4 #30

4 SU”‘GESTED SOURCE BLACK & DECKER POP FASTENERS DIV
AND P/N 97525AO1O THRU 90235A035 I o

D!STR!BUTION' STA’TEMENT A' APPROV’ED 'FOR’ A
PUBLIC -RELEASE;. DISTRIBUTION IS UNLIMITED.

| P/—\HI NO.04A044300

: e . . CONTRACT_ NUMBER . DEPARTMENT OF, THE-ARMY .
| UNLESS OTHERWISE SPECIRIED: ) - = © . - 7ﬁEVEUSPMgﬂYAQ%M?:gmLEi%EASESTER B B
* DIMENSIONS ARE-. N INC.HES © 1 CONTRACTOR . ' L _ROCK ISLAND, ILLINOIS 61299~ 7300
“ TOLERANCES ON - * =+ ot ™~ ST .
2 PLACE -3 PLACE .|t S RO I
W pop. RIVET. COMMERC!AL;_;,;:.; |
- _[DRAWN BY DATE S
: L.C.MCFARLAND| 87-01-30 ITEM DESCRIPTION (ClD)V
- ICHECKER . | ENGINEER ' T
; S * [BRAWNG AP_PRO_VAp_ ) Sz CAGE CODE_ S
. b STEVE MARRIOTT | 3 00
MATL ENGR T |DESGN APPROVAL T A 59 678 O4AO4’43
R ©BOB REDL. .0, [SCAE oo NOT]UNIT wr N




{

APPLICATION REVISIONS

LTR| DESCRIPTION [ oate [ approveD

NEXT ASSY USED ON

CAD MAINTAINED. CHANGES SHAIL BE

TMWSS 144102458 S CORPORATED BY THE DESION ACTIVITY.

| ﬂ ] —

‘\ H\‘—; 375 DIA NOMINAL

"A” (MiNIMUM GRIP)

R

R 187DIA S |

__l
.055 _ -

NOTE: - ) SRR S
1. THE POP= RIVET SHALL BE A STAINLESS STEEL DOME- HEAD

COPEN BODY TYPE, WITH A STEEL - MANDREL. :
2. A WASHER SHALL BE USED WHEN THE EXPANSION
S[DE OF THE RIVET: RETAINS PLASTIC o

3, HOLES SHALL BE PRE— DRILLED AT 192 DIA +OO4 #11

[pasn numBeR | —1] —2| -3| -4 | =5 -6 -7 ] -8||
GRIP L "A" |.06 | 126 |251 .376,,;501, 626 -1.876 |1.18] |-

et —

4. SUGGESTED SOURCE: BLACK & DECKER POP FASTENERS DIV
AND P/N 97517AO45 THRU 90235}1\010 o

DISTRIBUTION STATEMENT A, 'APPROVED: FOR :
PUBLIC RELEASE; DISTRIBUTION 15 UNUM!TED

F’ART NO O4AO44501

B ROCK ISLAND ILLINOIS 61259-7300

PMIC . CONTRACT NUMBER . . _ DEPARTMENT OF THE ARMY
: - .. US. ARMY_ ARMAMENT RESEARCH, "
UNLESS OTHERWISE SPECIFIED: . , .. DEVELOPMENT AND ENGINEERING CENTER .~ .|~

DIMENSIONS ARE N INCHES - o
: _ - CONTRACTOR
- TOLERANCES ON L L o IR
2 PLACE 3 PLACE ' o S
TR P S POP RIVET COMMERC!AL
L - DRAWN BY DATE ' :
L.C.MCFARLAND| 97-01-07 _ITEM DESCREPTION (CiD) ~
CHECKER ENGINEER L o | Rt P
. | DRAWING APPROVAL.- . ISiZE CAGE CODE
: _ .STEVE MARRIOTT = . . 1. | 1
MATL ENGR o T {DESIGN APPROVAL -~ A 59678 O4AO4430
| ' ' | ;- BOB REDL - : SCALE Do Nm!umr wWTo ‘SHEET <




g

APPLICATION REVISIONS

I

£ DATE
NEXT ASSY | USED ON LTR] DESCRIPTION | ATE ! APPROVED

CAD MAINTAINED. CHANGES SHALL BE
TMWSS |44102AS8 (1 ~ORPORATED. BY THE DESIGN ACTIVITY.

—] ﬂ l-— 375 DIA NOMINAL

l 1

B 9
.0'55'__} "A" MINIMUM GRIP
- 187 DIA
ToASH NUMBER | —1] -2 =3] -4 5] =8| -7 ] -8

HorIP L. A" |05 | 126 [251 [376 [501 626 |.876 |1.18||

HE POP R!\/ET SHALL BE A 5056 ALUMINUM DOME - HEAD
OPEN BODY TYPE, W!TH ‘A STEEL MANDREL. -

2 A WASHER SHALL BE USED " WHEN THE EXPANS!ON
. S[DE OF. THE- RIVET RETAINS PLASTIC

3. HOLES SHALL BE PRE—DRILLED AT 192 DiA +OO4 #H

4. SUGGESTED SOURCE BLACK & DECKER POP FASTENERS D!V.-L
AND P/N 97517AO45 THRU 97517AO1O

DISTRIBUTION | STATEMENT"A' APPROVED' FOR
PUBLIC RELEASE; DISTRIBUTION IS UNLIMITED. |
| PART NO O4AO44302

BN T [ COoNTRACT NUMBER . T DEPARTMENT OF THE ARMY
UNLESS OTHERWISE SPECIFIED: - S U.S. ARMY ARMMENTEEF;ESEAEESTER
' R . : . Co DEVELOPMENT AND ENGIN (I
- DIMENSIONS ARE IN.INCHES | ourosetor _ ROCK ISLAND, ILLINOIS 612997300
TOLERANCES ON  CORIRAVIRR : RIS R
2 PLACE 3 PlacE -l T N S R
o8- . 093 o . 1 POP RIVET COMMERC[AL_; R
L S RAWN BY .| DATE : e R
O cRARLAND | 37 01-07 1TEM DESCRIPTION (CID) Sy
CHECKER ENGINEER _ i
. [DRAWING APPROVAL —1SZE | cacE coos . e
, " STEVE MARRIOTT o ;'_ 2
MATL ENGR . L s DES1GN APPROVAL - R A 59678 O4AO4—4502 ;
' Lo T OB REDL . 0 T SCALE Do Nnﬂumr wT_ [SH_EET




¢

| APPLICATION REVISIONS
NEXT ASSY | USED ON LTR] DESCRIPTION | oate | approveD
| CAD MAINTAINED. CHANGES SHALL BE
TMWSS 144108 INCORPORATED BY THE DESIGN ACTIVITY.
A
—=— 500 DIA NOMINAL
|
1 N
J | V] Vi 4 ' - . r |
.073 A ‘<MINIMUM GRIPY
¥). - S
e =— 250 DIA
-:DASH NUMBER 1 =31 —4] -5] -6 -7 |
GRIP L. "A" .250 ¢.575 500| .6261|. .750

NOTE: |
~ 1. THE POP- RIVET SHALL BE A 5056 ALUMINUM, . DOME HEAD

OF’EN BODY TYPE, WITH A STEEL MANDREL.

2 A WASHER SHALL BE USED WHEN THE EXPANSION - |
SIDE OF THE RIVET RETAINS PLASTIC.

3 HOLES SHALL BE PRE-DRILLED-AT .257 DIA +OO:§ (F SIZE).

4 SUGGESTED SOURCE: BLACK & DECKER POP FASTENERS Dl\/
~AND P/N 97447A145 .

DISTRIBUTION STATEMENT A. i'APPROVEDLFOR ;
PUBLIC RELEASE; DISTRIBUTION IS UNLIMITED.

PART NO. O4AO44JUJ

DEPARTMENT OF THE ARMY

PMIC CONTRACT NUMBER . -
UNLESS OTHERWISE SPECIFIED: L : U, Aﬁ”éﬁgf;&iﬁg"gg&m
Ieb: S : ~ DEVELGPM
DIMENSIONS ARE IN INCHES CONTRACTOR -~ _ROCKISLAND, ILLINOIS 612997300 - |
TOLERANCES ON SR , 1
2 PLACE 3 PLACE
L os 003 e : POP RIVET COMMERCIAL
o DRAWN BY DATE
L.C.MCFARLAND | 96—12-30 ITEM DESCRIPT[ON_ (ClD)
- CHECKER ENGINFER o . - - )
! ORAWING APPROVAL . T |SIZE ] CAGE CoDE
STEVE MARRIOTT - ‘ O 3
MATL ENGR T|DESIGN APPROVAL . .- - - A 59 678 04/-\0443
B0B RIEOL SR ;_ SCALE Do Nor‘um W1 ISHEET




4

[ APPLICATION REVISIONS

]NEXT assy | usep on PR DESCRIPTION [_ome [ aperoveo

CAD MAINTAINED. CHANGES SHALL BE
TMWSS  |44102A58 |NCORPORATED BY THE DESIGN ACTIVITY.

"‘l | t"—'ZX "B”

‘ ‘ r—.032 MINIMUM  THICKNESS
1

Il

HOLE DIA ”B"‘/@

[pasH NnumBER | -1 | -2 | -3
GRIP L. "A" |9/64"|13/64 _9/32=3

NOTE:
1. THE BACKUP WASHER SHALL BE A STA!NLESS STEEL

FLAT WASHER THAT FITS THE POP RIVET BODY DIAMETER

2. A WASHER SHALL. BE USED WHEN THE EXPANSION
- SIDE OF THE -RIVET RETAINS PLASTIC. '

3. HOLES SHALL BE PRE—DRILLED IAW THE RIVET DRAWH\IG

4. SUGGESTED SOURCE BLACK & DECKER POP FASTENERS DlV.f,:.
AND P/N 92141A006 009 THRU 013 -

mSTRWﬂIHON'STATEMENT A APPROVED FOR””"
PUBLIC RELEASE; DISTRIBUTION IS UNLIMITED,

T f'\ﬁAA('\AA'Zf'\A

YA
. : C - ~ AIX NO.04A044504
PMIC . - | CONTRACT NUMBER : . " _DEPARTMENT OF THE ARMY _
UNLESS OTHERWISE SPECFIED: | S o usp ﬁkgmﬁ%“g:sﬂeiz\??gg:rm
' ' L : - .. DEVELOPM GINEERI
DIMENSIONS ARE IN INCHES * 1 conTRACTOR : ___ ROCK ISLAND, LUNOIS 61299-7300 °
TOLERANCES ON R - _
2 PLACE 3 PLACE R !
98 003 ' - WASHER COMMERCIAL o
. DRAWN BY DATE
Lencraruano| 97-01-07 |~ |TEM DESCRiPTlON (CID) e
CHECKER ENGINEER = - . R
- ! DRAWH;IG APPROVAL . © ]Stz | CAGE CODE - o o
- STEVE MARRIOTT SRR
[MATC ENGR - : ~ | DESIGN APPROVAL 1 A 59 678 O4AO443@4 -' .
' * .| o sos REDL ... |SCAE po NOTIUNIT Wi [SHEET




;

APPLICATION REVISIONS

NEXT ASSY USED ON

LTR| DESCRIPTION [ oare [ aeProved

TMWSS  laa102asgl CAD MAINTAINED.  CHANGES SHALL BE

Paaiand .

INCORPORATED BY THE DESIGN ACTIVITY.

"——b_l H_ZX an

l \ —060 MINIMUM THICKNESS
!
i
|
HOLE DA "B"-—"
NUMBER . | 4 6

GRIP L. "A” - {1/16"] 1/16"
HOLE DIA. "B"} .129 ] .192
NOTE: '

1. THE BACKUP WASHER SHALL BE AN ALUMINUM
- FLAT WASHER THAT FITS THE POP RIVET BODY DIAMETER.

2 ‘A WASHER SHALL BE USED WHEN THE EXPANSION
SIDE OF THE RI\/ET RETAINS PLASTIC.

3 HOLES SHALL BE PRE—DRILLED 1AW THE RIVET DRAWING

4. SUGGESTED SOURCE: BLACK & DECKER POP FASTENERS DIV: -
AND P/N SBUP4 & SBUPG

DISTRIBUTION STATEMENT A. . APPROVED FOR
PUBLIC RELEASE; DISTRIBUTION IS UNLIMITED.

AT I\ MAAMNA A ZTNE

. , : AR U U’-i-/—\U”:"—%JUJ
PMIC CONTRACT NUMBER - : ~ DEPARTMENT OF THE ARMY
UNLESS  OTHERWISE SPECIFIED: o e b __UL.S. ARMY ARMAMENT RESEARCH, e e
L o  DEVELOPMENT AND ENGINEERING CENTER .~ - inf +
DIMENSIONS ARG IN INCHES CONTRACTOR . - - e ROCK_ISLAND, ILLINOIS 61299-7300 |
TOLERANCES ON : S » : — — — —
2 PLACE 3 PLACE o TR S ey R : N
ces o wos o oo oo 10 WASHER  COMMERCIAL - o)
~ - [DRAWN BY DATE : - Ce
' —] L.C.MCFARLAND | 97-01- 07 lTEMV DESCRIPTION (ClD) _
© |CHECKER  * + | ENGINEER ' S S
: DRAWING APF’_ROV;\L - | SZE] cAGE CODE R
Vi . . . . .
: _STEVE MARRIOTT : N R
MATL ENGR _ T DES!GN APPROVAL I A 59 67 8 O4AO443O5 e
o RS I ' . BOBRIEOL - - . .. "[SCALE DO NOT[UNIT wt ISHEET N P




{ § u

\ I z c l 4 s i 9 —
e . -
vl e yma] _19% 09 rhn o vou — R R S
AR e e KY Joamlu|  Ng 1sh A55W iRIM QLA S8 HOLNEIILSKE muL.wHuHm_lu:m:a
1IAL0ISE | BL96S [ 4 S @.@v S iﬂm _ 404 OIAOUSdY ¥ INJAIIS NI
L e 13
. b I gizwow T ot £ 4NN A¥B3L i
SA0IS 1437 OV JHIIS ol Ty ot P £ 26Lr-£BI-6IE | INDHI M
ND1L33S ¥3LNG "d¥D o Tr ANVHIIN ¥1 "NOLSIHd g-d NOIL33S
s ¥i9 x08 Od _
i T BT L R e 133915 151-E0C i
WLATS M) S (AN QRATIA Tokd D T5) v . " — _
T e e ixuimon| . GRvbd_TTVOY_L0M GO o) aNE GILIATNA SISV T !
TIALQLSY "ON 1uvd vI3una; 13i539908 } _
M3LA 30IS |
M3LA LNDES i
)
(O — L)
— A | o
PO N e
A3lA dOL 0st2 47y QO
t 5258

ﬁl%ﬁlllq ] -
X9 05— | = \‘Qms vid SIE \.Qmw 3 wm._ =
X2 3 et ,
3 2t
A

1

/ e

i T ~

] 0oz
/a <21

rgwy DNITDISYILN 1TV ON3TE TTYIENIO!
4V SHNOINGD DNIWYISHM ONY Q3Ndw

X2 ¥ LC 234

$i7S3uALYYS 'H'H OL H'Y 804 ABLINAAS 9y Gzee 298
3108
Y ——
_ I
 — - _
[ T
| & q
- — p v-v NOIL133S
=/
Y -
SLs
st
(\|~
x A1GNISSY 3330 ITMHL ¥ HO4 5687 Or NYHL
u0s 08 SST1 4O SHT G 01 MwdG QL Q3T1MILdO
20 SH ¥ . a2 'SSINMOML Z1T Ol 90° “XICAN TIV¥3LYR 2
ALWIDY NOISI0 FHL AQ O3IVHOHOON ;m_m.m,w.u"_?_.mﬂu. m
38 S ST OINIVINATL 0% ; ; . SNOILYDIAIDIIS/ SAUVANYLS T18YHTddY '
. : T e } o gL i )
el i an] ot . “SILON
L= ] _ 1
i ] z 3 ¥ i G [ 9 | ¢ [ 8

w




w L _ 8

- | z | £ | v } s | hd
o] (e gmn] 0% 00 v, _ DY Y.
24A & gt ML C O L ‘QALINN. 51 NOUNPRILEKD I3SYINIE QENd
dnlelsy m.mﬁw.“m ,.._,. mw. .m@\ Teens =1 m.zlamm,nlill u03 QIAONAAY N LNINFIVIS NOLAOEISE
e 1O IR L st L UYLag '
. e AN AHM3L .
ND1iD3S 3N ¥ Wi _enoreine
o 3INTD 9 o T 2ser-e9-6IE1 na g-g noloas | _
BT K S, Laae a8 | |
e e vaeaw (rvapess] DMYNG TTV3L IGH OO ] Mt QALIMIEN SISV v i _ /\\
ZIAIDLGY ON 1d¥d 2Iw0S QILSINS 4 _ !
_ ! |
M3LA JAIS o~ 1 MVLE m _
AJIA INOYJ ) : _
_ ’ T I R, ! .
- — ) » ps i
- ke i Sem—— H 21T
AIA 4oL : T
Bm.m , . \
\
—18
5298
b——s2t wal-  pEEETEETES S pEEEES EEPEEEEEEES === e
(X2 0GE _ —  — OXF} VIO SLE .
i NN (7
ﬁ \ Q zr9l ! d
== E P} L N s22e ; ! | _
m L1 ] L i
q ] ; ! :
O | ‘ TR
w | o
] : : ! -
HgvE ONHLDASYIALNL 1TV aN3IE “IHDILN3C ﬂ w. w _
I4v SHNOINGD ONILYIdIY ONY OIdW) ) i i i
SIUSIJMNLYAS CHH OL HT BOJ AMIIWAAS ¥~y NOIL33S 1 . H _ :
et ]
J..ra _ M m m ‘u
T~ m [ ' ' Vs [
i L
o
i _r
. ! 74
|
. ! 3 s
\ﬁ / | ~ |
\ > - >/
‘A1gNISSY 3J0d IIHL ¥ HO4 SAT OF NvHL
Ss1) HO 5871 6§ OL My8Q OL J3ZIFLdO
o IH VI SLE SEINNDMHL C1° 01 SO° 'XAGAX TTMNALYR ‘T
"AUALDY NOISIG HL A8 CILVHOJUQINI ~— zg61-_neviA ISKNY ©
39 TWHS SIONVHDCINNINWA G¥D oy crl SNOMWIAD3d5/SOAVaNYLS TIBVIIIddY ')
-imf.t.aul“ LAWY 0 Wmm* ‘53108
TP W
i s i 9 { L ! ®

' _

4




L i L)

-

1 1 z ] € | Y i
area] yapen] 1w o ey — _ LY LY -
= : spuaum|  ha odtn | 4367 X7 {QILMNNG S NOUNTHISI SISYIT3Y D0nd
CaAtdisy wmoum.m u.. mw:@. oS “. 403 QINCHdSY ¥ JHINILYLY NOLAGIHISK .
SNOJ133S IHOI¥ 7 1437 0L o 5
YINID 20 ATMWISSY “d¥D v S
— Toe T 1Y wemeT) T a3 Racalnlat o8 e tmran et
[l oyt oond il etal WMEFIIA Peha i LI
g Wy (8 gy b T A -
amr Fu P4 2SR wimnem preaiea:| DAY D AT 1OW DQ .
CANLOISr "ON 1h¥d
L i L A
SN TN WY C =
. T -
3
g€-0 NOILD3S
oese 00B
1Y 25 et 1 { i 1 _ " “
s — —— T e e
t ] jIt__s .
1

e )

w\|_=1 i[-.lln.le.lls..l!..uT iiiii |m..||ll.|l|\\h|.\ N .

JJd 270 1
’ - Mm CXr¥y HIONIT §29° GHL IO 02-¥/3 L0E OH XJH

3 v , ' JH*.
¥ Q . (Xryy QHL ONO 02-¥/0 "ADOTIAN “LON XM
| : 3 N\
...\ K
. ) , - :
BREEiIn | v
\ r\ . S | (..l»\L ’ . ’ N )
y-v wOILIIS .\

— €

v

_ | Zanlolsy

A »,

N

JUYMOEYH SMd SA1 90 1HOOM L30uWvl ‘T

A TEMISSY HO4 STINYd JHL THHQ HOLYR
ONY 5310H J1¥307 :ATBRISSY 1708 °T

Z86i~-Ns'rik ISNY 8
00L-Q1S-N ¥

4 .
ALAUDY NOISIO L 2T, GILYHOJHOIN .
38 TWHS SIINYHD CAINIVLNNA YO : e K o SNOILYLDIdS/SOEYONYLS THYIddY ‘1
' E = ISJL0M

LIALOISY

[ | ¢ | g




-

e e R
w L]

' | ¢ | N i i i 5 ! ) hd | ‘
ura] “yn qen] i8Ry ) ROA Y EddY —— )
) T B TR —" Y gIATINA §1 HOILNGINLSIO TISYITIY DNENd
00ISYOVYO _ mmumwm hg o m. L) il iy .. BO0J QIAOHddY ¥ LNIMIiYLS NOUNGW1SK -
——— i3 . :
¥ L) [
SSARL JHI B0 TR ] | S —
e vt yard
ATEHISSY L¥0aNS T 6V ety Tt
-y CEPTTH
oy s B T e bk oA
v R i e 1A
P g i pywrw ()| DMAVHG FYS 10N o i
N

DOLGYCYYC "OR Llvd

-

. ) 2015r0VI0
4 ™ at i
. v_—nvocwal/
43y ooz )
s . L PRl | Y
= R . = S S
_.3_29..\ 2maisy LIATOLEY
5299
orse 068 f— :Eﬁs:.i/
—
[n*ﬂa.nml / [
[ea] ] X
L _ R
| «i> a3 : :
I ' . - L ) .
4 __ A S—cotgrovee © HIAZHEE e i
: Z0ISpOVED | e osa
- xix i s
" . l—o0g12
" ™ '
» T =F =] )
. C
[ =k =
- —
r~ m. "~
wgp oi®
N = — “JyYMOEYH 3315 NO HSINU :
A5YIS JLVHJSOHd ALMVIO TVIDUINADD HEINLF T
‘¢ JAVHD SSINIVLS TI¥ SINN IO SYIT HIM
97 ,2/1 | X Wil .8/ "S1108 Tdal T
ZE6L~NGPLIA ISNY §
53d5/50 z.mo_wa_m;.__: v
3L .
LAY NSISTO ML AR 0IIYHOJHODNI SNOIYIUIDILS/SOUVANYLS 3I8YadaY 1,
38 1TVHS SICNYHD  COINIVINIYY GYD ’ : SION
T T T .
Lol U e i | ) Jai] »or
rad 1 .
| T z I Tt I » t ' ] v I i i ]



